< ™

o0 ©

6

5

4 8 2

<t O

8

7h



stolat,

ol viebdt
:ll

)
SO
=

A 50 3 B9 958 24
S0t 130 o]4FS] AThESo]

ol

—~
3o
N—r
Fimo S|SB
-
=
__o_|
O EE E
—E B [E [ [
o olololo|o
~— | <H |~ | O[O
A_l 111'
e <
ﬁAN | ~a&
N R0 R0 R0 RO R
M0 [ [0 o [o
ololo|olo
M= S| S|
|




SA AR
ol

A,B,C,D 7} 4. °l5

]
=

4l

MM DR
=} b ,UI
ol T gk

o

@ 370 B3 470 @ 571 & 671

@ 271



4. oS 1=o|A 1/ m O] 1, /APB — %AAPC‘Q W, APB 9] 27]=9

4®\A I

@D 50° ® 60° 3 70° @ 80° B 90°



-

@ =A2 AB 9t HAE] BF & 31 912]o] itk
@ HAE AB ¢ BAE CG = Bastt.

® W ABCD ¢ 242 AB = 4]0t}

@ mAE AB 9t WA GH + %21 $1x]of| Slct.
(3 HAE BF = =W ABCD 9] 4=40] At}



7}7k 22 f, LCAE + /CDB 9] g7

D

@D 30° @2 45° 3@ 60° @ 750 —

9ol A ¢ = Ho| 7t A BC . CE £ o

)

Ho

=



